Tried Read/Write for 0x94h.

Read

SENZ1
SENZ2

SCLK

SDATA
SbouT

SENZ1
SENZ2

SCLK

SDATA
Sbout
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CLK=10MHz ( It was same in clk=1MHz. )

NIT:
3W_SPI_MODE=1 SENZ1=0, SENZ2=1, Address:0x10, wdata:0x0001

SENZ1=0, SENZ2=1, Address:0x00, wdata:0x0002
SENZ1=0, SENZ2=0, Address:0x94, rdata:0x199A (SDOUT)
SENZ1=0, SENZ2=1, Address:0x00, wdata:0x0000
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0x00, 0x0002

Not in 3-wire mode
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7.6.2.1.5 Register 148 (address = 94h)
Figure 147. Register 148
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MANUAL FSWEEP START
R/W-15h
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MANUAL FSWEEP START

RMW-9Ah

Table 74. Register 148 Field Descriptions

Bit | Field Type

Reset,

150 | MANUAL_FSWEEP_START RW

)

These bits control the start of the frequency parameter for down-
Thaev defi o
bits define the beginning frequency for the down-
conversion frequency sweeps; see the vanable frequency
ion mode in the Down-C section.
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Write

test write 0x001 to 0x94 Reg
SENZ1=0, SENZ2=0, Address:0x94,
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rdata:0x0001

: Agilent Technologies
CRS——Ty

0x94, 0x0001

SENZ1
SENZ2

SCLK

SDATA
Sbout

SENZ1
SENZ2

SCLK

SDATA
Sbout

Verify

1.
2
3

SENZ1=0, SENZ2=1, Address:0x00, wdata:0x0002

SENZ1=0, SENZ2=0, Address:0x94

rdata:0x199A (SDOUT)

SENZ1=0, SENZ2=1, Address:0x00, wdata:0x0000

' Agilent Technologies

Not in 3-wire mode

Result: Maybe, did not writing

What is the cause ?

It was similar in read/write other values.



